SCIENCE TEST

STD- VI

1. A unisexual flower lack or

2. make their own food but heterotrophs depend on others for food.

3. is the bone of the upper arm that fits into the gridle.

4. Ababyhas ____ bone than an adult.

5. is the heaviest bone of the human body and fits in the girdle .
6. A ball rolling on the ground in a straight line shows and motion.
7. Moon and Earth are objects as they don't radiate light.

8. comes between Earth and Sun in a eclipse.

9. Draw an electric circuit and give the direction of the current.

10. and poles of a magnet attract each other.

11. Draw a simple and a compound leaf.
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